

$$\begin{array}{ccc}
\mathbb{C}^{d_\infty} \begin{array}{c} \blacktriangleleft \\ \blacktriangleright \end{array} \mathbb{C}^{01} & \xrightarrow{=} & \frac{\bar{\partial}\eta = \frac{\partial\eta}{\partial\bar{z}^j} d\bar{z}^j}{\eta \in \mathbb{C}^{d_\infty} \begin{array}{c} \blacktriangleleft \\ \blacktriangleright \end{array} \mathbb{C}} \\
\downarrow i & & \\
\mathbb{C}^{d_\infty} \begin{array}{c} \blacktriangleleft \\ \blacktriangleright \end{array} \mathbb{C}^{01} & \xrightarrow{=} & \frac{\eta = d\bar{z}^j \eta_j}{\bar{\partial}\eta = 0: \quad \frac{\partial_i \eta}{\partial\bar{z}^j} = \frac{\partial_j \eta}{\partial\bar{z}^i}} \\
\downarrow j & & \\
\mathbb{C}^{d_\infty} \begin{array}{c} \blacktriangleleft \\ \blacktriangleright \end{array} \mathbb{C}^{01} & \xrightarrow{=} & \mathbb{C}^{d_\infty} \begin{array}{c} \blacktriangleleft \\ \blacktriangleright \end{array} \mathbb{C}^{01} \quad \cap \quad \mathbb{C}^{d_\infty} \begin{array}{c} \blacktriangleleft \\ \blacktriangleright \end{array} \mathbb{C}^{01} \\
& & 1 \leq k \leq +\infty
\end{array}$$

$$\left\{ \begin{array}{l} \gamma \in \mathbb{C}^{d \times 0} \\ \frac{\partial \gamma}{\partial \bar{z}^j} = \frac{\partial \gamma}{\partial \bar{z}^i}: \quad \bar{\partial} d\bar{z}^j \gamma = 0 \end{array} \right. \Rightarrow \left\{ \begin{array}{l} \forall \gamma \in \mathbb{C}^{d \times 0} \\ \frac{\partial \gamma}{\partial \bar{z}^j} = \gamma: \quad \bar{\partial} \gamma = \frac{\partial \gamma}{\partial \bar{z}^j} d\bar{z}^j \end{array} \right.$$

$$\text{Ex : } z^1:z' \gamma = \int_{d\bar{w}^1:dw^1}^{\mathbb{C}} \frac{w^1:z' \gamma}{w^1 - z^1} = \int_{d\bar{\zeta} d\zeta}^{\mathbb{C}} \frac{z^1 + \zeta:z' \gamma}{\zeta} \Rightarrow \left\{ \begin{array}{l} \gamma \in \mathbb{C}^{d \times 0} \\ \frac{\partial \gamma}{\partial \bar{z}^1} = z^1:z' \gamma \end{array} \right.$$

$$\bigwedge_{2 \leq j} \frac{z^1:z' \partial \gamma}{\partial \bar{\zeta}^j} = \int_{d\bar{\zeta} d\zeta}^{\mathbb{C}} \frac{1}{\zeta} \frac{z^1 + \zeta:z' \partial \gamma}{\partial \bar{\zeta}^j} = \int_{d\bar{\zeta} d\zeta}^{\mathbb{C}} \frac{1}{\zeta} \frac{\partial \gamma}{\partial \bar{\zeta}^j} = \int_{d\bar{w}^1 dw^1}^{\mathbb{C}} \frac{1}{w^1 - z^1} \frac{\partial \gamma}{\partial \bar{w}^1} \stackrel{\text{allg}}{\text{Cau}} z^1:z' \gamma$$

$$\text{cpt } K := \bigcup_{1 \leq j \leq d} \text{Trg } \gamma \subset \mathbb{C}^d \Rightarrow \frac{\partial \gamma}{\partial \bar{z}^j} = \gamma \stackrel{\text{C}^d \text{LK}}{=} 0 \Rightarrow \gamma \text{ hol on } \mathbb{C}^d \text{LK}$$

$$\mathbb{C}^d \text{LK} \in U = \frac{z^1:z'}{\|z'\|^n > \prod_w \|w\|^n} \text{ unbes} \Rightarrow \overline{\mathbb{C}^d \text{LK}} \cap U \neq \emptyset$$

$$z^1:z' \in U \Rightarrow \bigwedge_{w^1 \in \mathbb{C}} w^1:z' \notin K \Rightarrow w^1:z' \gamma = 0 \stackrel{\text{Def}}{\Rightarrow} z^1:z' \gamma = 0$$

$$\Rightarrow \gamma \stackrel{\text{U}}{=} 0 \stackrel{\text{Ident}}{\Rightarrow} \gamma \stackrel{\text{C}^d \text{LK}}{=} 0 \Rightarrow \text{Trg } \gamma \subset \mathbb{C}^d \text{LK} \stackrel{\text{bes}}{\Rightarrow} \gamma \in \mathbb{C}^{d \times 0}$$

$$\text{Eind : } \left\{ \begin{array}{l} \gamma \in \mathbb{C}^{d \times 0} \\ \frac{\partial \gamma}{\partial \bar{z}^j} = 0 \end{array} \right. \Rightarrow \gamma \in \mathbb{C}^d \stackrel{0}{\Delta} \mathbb{C} = \mathbb{C} \Rightarrow \gamma = \text{cst} = \infty \gamma = 0$$